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Cluster: 0153 ptr; resid: 0.26; r/c: 20/79

x.range

upstream meme PSSM #1; e=1.4e+03

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=9.9e+04

1 3 5 7 9 11 13 151 3 5 7 9 11 13

●

●

●●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

29812

51157

2339928841

31068

37927
43152

44488

46554

47378

47498

47702

48279

48744

49339

51136

54935

55192

55198

9904

string −500 −400 −300 −200 −100 −1
46554NA
47378−0.59
54935−0.92
51136−1.05
31068−1.06
55192−1.13
37927−1.25

9904−1.40
47702−1.42
23399−1.52
48279−2.70
55198−2.81
29812−2.84
43152−2.99
28841−3.05
44488−3.06
48744−3.19
51157−3.20
49339−3.53
47498−3.80

log10(P) upstream meme1 2 log10(P.clust)=−2.18; 20 seqs; 20 uniq
c(0.5, 2.5)
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